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Q.1

qus-3

(afy g Iha 9eF)
aeft medf & I AT A% N9 H IEY 30 9= A
AT TAF e & IR H B

(i) What is high powered money?
Iea afe g1 | 7
(i) What is Statuary Liquidity Ratiio?
Statuary Liquidity Ratiio F1 &7
(iiiy Different between international trade and

domestic trade by four parameters?

IS AR g 9 AR F HE GR WK
qaEw?

(iv) What is incidence of taxatiion?
FHA FT 27

(v) Whatis u_.:u_mo debts?
A A R

(vi) What is equi-marginal sacrifice?
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Q.2

Q.3

Q4

Q.5

Q.6

Q.7°

A5t T et & SAX SR TR 99 &1 IO 200 S
¥ A uR% Te9 10 3 & B

Explain the economic and social evils of moeny?
TeT & AIRIE g A QS B TR

Specify the quantitative methods of credit control.
qrg-fafma @ g Rt # wse Hiee?

Compare between Fisher's and Cambridge's

approaches of quantity theory of moeny?
a7 Qe & HIIR g B @R B ger S

Different between functions of central bank and

commercial banks.

g ¥ AN ARG bt B B A R W I
Define :.:m..:mzo:w__ .\:mam and explain its advantages?
IS AR B ﬂ_m FA EU S A Tyl
Explain mint parity theory?

ﬁﬂ@mﬁ@.ﬂ_ﬂ&mﬂm&

C)) | EC-06/500/6

Q.8

Q.9

Note:

Q.10

Explain the type of taxation on the basis of tax rate?
P P A B MR T HA & THR P TAARY

Explain the advantages of public expenditure and

theory of being economise?
Ao @ F @ d Riar & FEE e S’

Section-C
(Long Answer Questions)

Answer any two questions. Answer of each question
should be given in 500 words. Each question carries

20 marks. 2x20=40

que-q

(& Il ueF)
Ret @ w3 TUR AR S S H AT 500 T
# Gfm TR S 20 ST B

What is inflation? What are the main causes and

suggest the mechanism to control it.
ﬁ%ﬂwwﬁwnﬂﬂiﬂgwﬂ%
Pramer 3 I FawEa’?
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